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PID Function
The PID (LE@. #14r. 7)) function is used in mainly
control applications. PIDCalc performs one iteration of the PID
algorithm.
While the PID function works, main is just a dummy program showing
a typical usage.

s s s s s s s s s s e ——‘f

typedef struct PID

{
int SetPoint; //#¢5E H b Desired Value
long SumError; /i3 % 5t



double Proportion; /L1 {4l %t Proportional Const
double Integral; //#1} 7%k Integral Const
double Derivative; /{71 2 Derivative Const
int LastError; //Error[-1]

int PrevError; //Errof[-2]

} PID;

static PID sPID;
static PID *sptr = &sPID;

* ===

Initialize PID Structure PID Z#i#/tH1k

void IncPIDInit(void)

{

sptr->SumError = 0;

sptr->LastError = 0; //Error[-1]

sptr->PrevError = 0; //Error[-2]

sptr->Proportion = 0; //LL I %7 %t Proportional Const
sptr->Integral = 0; /#1437 %1 Integral Const
sptr->Derivative = 0; //fil 7} £ Derivative Const
sptr->SetPoint = 0;

}

f =

1R PID v

*

int IncPIDCalc(int NextPoint)

{

register int iError, ilncpid; IPARTRZE
iError = sptr->SetPoint - NextPoint; ok
ilncpid = sptr->Proportion * iError J/E[K]3

- sptr->Integral * sptr->LastError HE[K—1]5t

+ spir->Derivative * sptr->PrevError; HE[k—2]5

IFEfiE %, HT PR

sptr->PrevError = spir->LastError;
sptr->LastError = iError;

[ |3
return(ilncpid);

}
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